
Stat 134

Monday April 23 2019

1. Let A, B and C be events and let X be a ran-
dom variable uniformly distributed on (0,1).
Suppose conditional on X=x, that A, B, and
C are independent each with probability x.
The conditional density of X given that A
and B occurs and C doesn’t is:

a Beta(2, 2)

b Beta(3, 2)

c Beta(2, 3)

d none of the above
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The posterior can be difficult to calculate

except when the prior and likelihood are

conjugate pairs
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The prior and likelihood
are

conjugate pairs
when the prior and
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to the same

distribution family
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1. Consider a Poisson(λ) process. Let Tr ∼

gamma(r,λ) be the rth arrival time. Cov(T1, T3)
equals:

a λ

b λ2

c 1/λ2

d none of the above
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